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Philosophy 1102 

 

Answers to Problem Set 4 
 

Total: 50 marks 

 

 

 

1.  [7 marks] 

  

 
 

 

2.  [7 marks] 

 

  

 
 

 

3.   [7 marks] 
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4.  [7 marks] 

 

  
 

 

5. [7 marks] 

 

   
 

 

6. The argument is invalid.  [4 marks] 

 

 

 
 

 
 

A B C    (A  B)  C A C 

F T/F T                     T  T F 
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7. The argument is invalid.  [4 marks] 

 

 

Cube(a)  Cube(b) 

(Cube(c)  Cube(b)) 
---------- 

Cube(c) 
 

A  B 

(C  B) 
------ 

C 

 

 
 

A B C AB (C  B) C 

T F T T T F T  T  F  F F  T 

 

 

(I.e. a and c are cubes, but b isn’t a cube.) 

 

 

 

 

 

 

8. [7 marks] 

 

 
   

 


